
Power size calculation for IGFBP-4 increase following X ray irradiation in mice (Figure 1a). Based on previous experiments, we assumed that basal serum value of IGFBP-4 in control mice was 100 ± 20. Data were expressed in arbitrary units. We expected at least a 50% increase in IGFBP-4 value following irradiation.
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For other data on mice shown in figure 1 we used the same approach.

Power size calculation for paired data obtained from patients before and after CT scan (Figure 2) Based on previous experiments, we assumed that expected mean of the paired differences in serum IGFBP-4 before and after CT scan was 1.02 (arbitrary units) and the expected standard
deviation of the paired differences was 0.4.
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Statistical Parameters

Anticipated Means Type I/1l Error Rate
Group 1 (2) 100 =+ 20 Alpha (2) 0.05
Group 2 (2) 150 Power (2) W

Enrollment ratio (2) 1

RESULTS

Continuous Endpoint, Two Independent Sample Study

Sample Size Study Parameters

Group 1 3 Mean, group 1 100
Group 2 3 Mean, group 2 150

Total 6 Alpha 0.05
- Beta 0.2
Power 0.8
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Sample Size Calculator for Comparing Paired Differences

« Provides live interpretations.
« Evaluates the influence of changing input values.
« Adjusts sample sizes for continuity and clustering.

Calculate Visualise Tabulate

Input Values

Select one of the two options to specify input values. Hover
over the @ sign to obtain help.
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e Click the Options button to change the default options for Power,
Significance, Alternate Hypothesis and Group Sizes.

o Click the Adjust button to adjust sample sizes for t-distribution (option
applied by default), and clustering.
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The study would require a sample size of:

(number of pairs) to achieve a power of 80% and a level of significance of 5% (two
sided), for detecting a mean of the differences of 1.02 between pairs, assuming the
standard deviation of the differences to be 0.4.

In other words, if you select a random sample of 5 pairs and determine that the mean of the
differences is 1.02, and the standard deviation of the differences is 0.4, you would have 80% power to
declare that the mean of the paired differences is significantly different from zero, i.e. a two sided p-
value is less than 0.05.

Reference: Dhand, N. K., & Khatkar, M. S. (2014). Statulator: An online statistical calculator. Sample
Size Calculator for Comparing Two Paired Means. Accessed 20 December 2019 at
http://statulator.com/SampleSize/ss2PM.html

Note: Statulator used the input values of a power of 80% and a two sided level of significance of 5%
for sample size calculation and adjusted the sample size for t-distribution. You may change the
options by clicking here or the 'Options' button and the adjustments by clicking here or the 'Adjust'
button.




